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1 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%&iBR D -~ — — —
ZFhLs 1.00| 000 ~ 316 40.39 | #hst 000 ~ 316|229 12.24 ZThsh 1.00|6.00 ~ 5.00 40.39 | Th5 | 6,00 ~ 5600|229 12.24
2 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%iBR D -~ — — —
st 1.00 1000 ~ 390 4891 | s | 000 ~ 390|219 11.70 Thst 1.00 | 56.00 ~ 5562 4891 | #hs | 6.00 ~ 5562|219 11.70
3 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%iBR D - ~ — — —
ZFhLs 1.00| 000 ~ 389 48.87 | #hst 000 ~ 389|219 11.71 Thst 100|600 ~ 5562 48.87 | ThS | 6.00 ~ 6562|219 11.71
4 100kN/m%#8x5%| 1.00| 000 ~ 126 119.03 |3m&E#EZBH| — ~ — — — | 100kN/m%#BZ % | 1.00 | 10.95 ~ 15.71 119.03 |3m%#BZ 5% - ~ — — —
ZFhLs 100|126 ~ 9.04 100.00 | #Fhidst | 000 ~ 904|223 11.95 Zhsh 1.00|6.00 ~ 1095 100.00| Fhs |6.00 ~ 1571|223 11.95
5 100kN/m#%#8Z%| 1.00| 000 ~ 283 144.70 |3m&E#EZBH| — ~ — — — | 100kN/m%#EZ % | 1.00 | 10.54 ~ 24.95| 144.70 |3m%E#BZ3 -~ — — —
ZFhLs 1.00| 283 ~ 1061 100.00 | #hlst | 0.00 ~ 1061|268 14.34 Thst 1.00|6.00 ~ 1054 100.00 | =St | 5,00 ~ 24.95| 2.68 14.34
6 100kN/m#%#8Z%| 1.00| 000 ~ 223 134.75 |3m&E#EZBH| — ~ — — — | 100kN/m%#EZ % | 1.00 | 10.78 ~ 21.49| 134.75 |3m%E#BZ D -~ — — —
ZFhLs 100|223 ~ 1002 100.00| FnLS | 000 ~ 1002|2568 13.81 Thst 1.00|6.00 ~ 1078 100.00| ThUS | 65.00 ~ 21.49| 2.58 13.81
. 100kN/m#%#8Z%| 1.00| 000 ~ 183 12815 |3m&E#EZBH| — ~ — — — | 100kN/m%#8% % | 1.00 | 11.42 ~ 21.50 128.15 |3m%&#BZ 5 -~ — — —
ZFhLs 100|183 ~ 962 100.00 | #Fhlst | 000 ~ 962|248 13.29 Zh s 1.00|6.00 ~ 1142 100.00| Ths | 600 ~ 2130|248 13.29
3 100kN/ Mm% 23 — - ~ — —|3mZzBZB| — ~ — — — | 100kN/ %8Bz 5 — - ~ — —|3m%iBR D - ~ — — —
ZFhLs 100|000 ~ 414 51.84 | #nst | 000 ~ 414|204 10.89 Zhst 1.00|6.00 ~ 5.00 51.84 | This | 6.00 ~ 56.00 | 2.04 10.89
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zhsh ~ ZThsh ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zhsh ~ Zh s ~ Th st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ ZThsh ~ Zhsh ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zh s ~ Zhsh ~ Zh s ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zh s ~ Zhsh ~ Zh st ~ Th st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEEZD ~
Zh s ~ Zh s ~ Thsh ~ zh st ~
100kN/ Mm% 23 ~ ImEREZD ~ 100kN/m##8 % % ~ ImEHEZD ~
Zh s ~ Zh s ~ Zh s ~ Zh st ~
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